B.Sc. Semester-111 General Examination, 2020 (CBCS)
Subject: Chemistry General
Paper: CC-1C

Course Title:  Chemical energetic, Equilibria, Organic Chemistry.
Time: 2 hours. Full Marks: 40
The Figures in the margin indicate full marks.

Candidates are requested to give their answers in their own words.
Answer all the questions.

Answer any eight questions from the following:
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(1)Write down the Thermo dynamical Characteristics of an ideal gas.
(i)Derive the relation between Pressure(P) & Volume(V) for
Reversible Adiabatic expansion of an Ideal Gas.

Q2. (i)CaF, a7 SferSfAf@fG 7 S mol.L1| a7 QISFeT STHAI6 (FIET|
(ifaafafie RIfFaE o= 20°C 4 K- 9 1.9*10% atm™. (1R

OIS K-8 NA(6 STl $E1|
2NO(g)+ Clx(g) = 2NOCI(g)

(i)The Solubility of CaF; is S mol.L™. Find out its Solubility Product.
(ii)For the following reaction the value of Kp at 20°C is 1.9*102 atm™.
Find the value of K¢ at that temperature. 2NO(g)+ Clx(g) =
2NOCI(g).
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Convert : Propylene to Glycerol. Write Short Note on :
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(a) Halo form Reaction.
(b) Aldol Condensation.

Q4. ()F TG IV IS [AIFITR @@T(A) HAAGIRG
SHENE SHEfe@ S8 271 (B) SHINGIE BFET HCI-F &if3fote
YEE Y A A71(i)F@8g $@&ET: Acetaldehyde to Chrotonic

Acid|

(i)What happens when(Write with proper chemical reaction): (A)
Formaldehyde is heated in presence of ammonia. (B) Acetone reacts
with ethanol in presence of dry HCI. (ii) Convert: Acetaldehyde to
Chrotonic Acid.
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()Why Vinyl Chloride does not undergo Sn2 reaction? (ii) Write
Short Note on Ostwald’s Dilution Law. (iii) Prove That (dV/dT)p = -
(dS/dP), .
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())An ideal gas is Compressed adiabatically reversible change from its
volume 40L to 4L at 27°C initial Temperature. Find Its Final
Temperature(Given: Cy= 5 cal/mol).(ii) Define Common lon Effect.
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(i)Convert: (a)Toluene to Phenyl Acetic Acid (b) Phenol to Aspirin.
(i1) Write Short Note on : Clausius Clapeyron equation.
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()Why aqueous solution of FeCls acidic in nature?(ii) Write Short
Note on : Buffer Capacity.
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(i)Write Short Note on: Perkin Reaction.(ii) What happens when
Pinacol is heated in presence of Conc. Sulphuric Acid.
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(i)How to differ Chlorobenzene & Benzyl Chloride by a chemical
Reaction. (ii) Write Short Note on: Sandmaer Reaction.
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